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Cluster: 0247 ptr; resid: 0.46; r/c: 30/83
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upstream meme PSSM #1; e=8.5e−09
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1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

10286
11401

32684

33124

34085
35009

35102

3644437064

37580
37902

38388

38408

38410

39363

39391

39762

39794

40645

40843

40968

42322

45245

45384

46557

48336

51110

54547

8537

8975
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46557NA
45384−0.02
39363−0.03
48336−0.04
39794−0.05
39391−0.08
35102−0.12
33124−0.12
35009−0.16
54547−0.17

8975−0.25
40645−0.26
34085−0.31
36444−0.42
37902−0.60
45245−0.61
51110−3.10
32684−3.22
42322−3.72

8537−3.93
10286−4.09
11401−5.12
37064−5.65
38408−5.65
37580−8.54
39762−10.92
40968−12.10
38410−13.02
38388−16.75
40843−17.21

log10(P) upstream meme1 2 log10(P.clust)=−4.01; 30 seqs; 30 uniq
c(0.5, 2.5)
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